Name Date Period
Solutions/Concentrations/Dilutions Worksheet #3: % Composition & Molarity

1. If 48.0 g of sodium bromide are dissolved in 138 g of H,O , what is the percent composition of solute in this
solution?
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2. Calculate the molarity of a 500.0 mL solution that contains 285 g of NaBr, .
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3. Calculate the molarity of a solution that contains 40.0 g of potassium hydroxide dissolved in enough water to
make 0.500 liters of solution.
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4. What is the mass of solute in 985 mL of a solution if the solution is 85.0% water and the density of the
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5. Calculate the mass of sodium nitrate in a 15.0% solution that has a mass of 250.0 g.
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6. What mass of potassium chloride must be used to make 2.00 liters of a 0.800 M potassium chloride solution?
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7. How many milliliters of concentrated hydrochloric (12.1 M) are needed to make 500.0 mL of a 3.00 M dilute
solution? Ve sy
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8. Ammonium nitrate is a common fertilizer. What mass of solvent (water) must be used to make 5000.0 g of a
5.00% solution of ammonium nitrate?  MOH4 M4
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9.1 56.0 mL of concentrated sulfuric acid (18.0 M) is diluted with water to a final volume of 2.00 L, then what
is the new mofarigy_ of the diluted solution? M < D=V 5
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